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General Instructions :

(i) There are a total of 26 questions and five sections in the question paper.
All questions are compulsory.

(ii) Section A contains question number 1 to 5, Very Short Answer type questions of 1
mark each.

(iii)  Section B contains question number 6 to 10, Short Answer type—I questions of 2
marks each.

(iv)  Section C contains question number 11 to 22, Short Answer type—II questions of 3
marks each.

(v) Section D contains question number 23, Value Based Question of 4 marks.

(vi)  Section E contains question number 24 to 26, Long Answer type questions of 5
marks each.

(vii)  There is no overall choice in the question paper, however, an internal choice is
provided in one question of 2 marks, one question of 3 marks and all the three
questions of 5 marks. In these questions, an examinee is toattempt any one of the
two given alternatives.
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SECTION - A ( : .
1. T5iST % IFER o7 (saltation) T €T & 2 &‘ 1

According to de-Vries what is saltation_?

2. AU A HE H rcafus

Excessive nutrients in a fr

3. THIURAH %ﬁ et & foTt Tad 3T Ui oty &1 gend T |

T T ST € | 1S 31 ShROT SaTed | 1

ody cause fish mortality. Give two reasons.

1
Suggest the bre thod most suitable for animals that are below average in milk
productivity.
4.  TH SF U7 U Vel H e ey | 1
State a difference between a gene and an allele.
5. U YAl S DNA & TEi ol G2 HA Sl STavdend &, 3§ frdt fafyr o6 gemar i | 1

Suggest a technique to a researcher who needs to separate fragments of DNA.
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SECTION - B

TS T5TfOT Stta W JreheT SHiRTeRTal 1 T Hewel il & 2 2

Explain the significance of meiocytes in a diploid organism.

TR o 3T} ! g9 F o} 2Afeh Tl sl Safafaar s == i | I8 g Ui @ve & 2 2

Mention the kind of biodiversity of more than a thousand varieties of mangoes in India
represent. How is it possible ?

3 "SI A Gl SR Sh HRUT AIfEd-Ael & SUER % SR feame - ST
3ATeRdisH | (BOD) o STl & |

: 2
List the events that reduce the Biological Oxygen Dema }(ﬁ a primary effluent
during sewage treatment. Q
»

DNA Uf&hiaas o IR DNA TEiST A9 U Wﬁ%ﬁﬁ%ﬂm 2
Discuss the role the enzyme DNA lig ring DNA replication.
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15.

Name the causative organism of the disease amoebiasis. List three symptoms of the

disease.

OR

Identify ‘A’, ‘B’, ‘C’ and ‘D’ in the given table.

Crop Variety Resistance to disease
Himgiri Leaf rust
Cauliflower Pusa Shubhra
Brassica Pusa Swarnim
Cowpea @ Bacterial blight
Qug T
SECTION - C
forey =t gfig o RIS It o SRA AT FXH ! TAE -] ? SHROT FART |

Give reasons.

Why is breast-feeding recommended during the iniC of an infant’s growth ?

p
L J
Wﬁ@ﬂWWﬁﬁW(trai@ T | TH B H T

T SR % U hi AT DT |

Give an example of an autosoma

inheritance with the help of a cids

cesSive trait in humans. Explain its pattern of

39 VI T 90 ’ ¥R 1 Sl & W@a:SHT & HGid ol SEd & J

4

Describe the experiment that helped Louis Pasteur to dismiss the theory of spontaneous

Herarar # |
generation of liftej& ’

UG- dehileh 9 ST IR | FHT ST 6l TeTaal fiedl & | Sames 5 |
Plant breeding technique has helped sugar industry in North India. Explain how.
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Suggest and describe a technique to obtain multiple copies of a gene of interest in vitro.
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GMO T8 ed € 2 T e & e GMO & Gl feel el ol <t gt STy | 3
What is a GMO ? List any five possible advantages of a GMO to a farmer.

AT URT T YHOT FA o SR, 3TTH WheT i U DT HI Vfeeegs fowa & wi |
AR, oI THT &% 915 98 3 & T | 3
(a) THHAG 1 AT T o AT T T-I07 i =l IS |

(b) TE T forg HROT &4t ?

(c) D T H 98 SHT % FAHT 8l Tl 2

During a school trip to ‘Rohtang Pass’, one of your classmate suddenly developed

‘altitude sickness’. But, she recovered after sometime.

(a) Mention one symptom to diagnose the sickness.

(b) What caused the sickness ? }
(c) How could she recover by herself after sometime ? 0\

RNAi T ¥ 68 TR Aozt sﬁﬁﬁﬂﬁmwg;?ﬁw FRT T % Ul § STEl

TEHAT B A S & T 2 . 3

How has RNAI technique helped tj&nfestatmn of roots in tobacco plants by

a nematode Meloidegyne incogniti

“Teh G- H, Ut T fopal TielisT g &l ifeeh Uk forarcnes T g e € 17
T | ’ 3
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(a) 3 Tohedl <Ry AU ST FeR-SRI U= bl o S1am gt & | THT e
T SR TS ¥ 2

(b) RS @& Sl B TH FHT TR |
“In a food-chain, a trophic level represents a functional level, not a species.” Explain.
OR

(a) Name any two places where it is essential to install electrostatic precipitators.
Why it is required to do so ?

(b) Mention one limitation of the electrostatic precipitator.
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20. TR WOANTT ST W @ U, Raetedl & SRR T 9 F T BT Sed 6 g
THid T fow ST |
(a) T UBN I S BT Bl T SETIhHT &l & 2
(b) T T “TT B & [SHeh! Sira STBRATIT AT TTe & 2
(c) UM & S AT bl gt S18T 59 3 g7 U foh S §

Prior to a sports event blood & urine samples of sportspersons are collected for drug
tests.

(a) Why is there a need to conduct such tests ?
(b) Name the drugs the authorities usually look for.

(c)  Write the generic names of two plants from which these drugs are obtained.

21. 39 WANT &I 90F e e g8 e foar mar f% DNA : AT |
Describe the experiment that helped demonstrate the ser@e ative mode of DNA

replication. Q
2. A oE gEtE g A T | A ww

(a) AT

(b) AemmEET Sdfafaars Q
(c) Ty TRe™ ‘b
(d) ZIEHEH] iRy

(e) oirdlicm

() o

Given below is a list of six micro-organisms. State their usefulness to humans.

(@)  Nucleopolyhedrovirus

(b)  Saccharomyces cerevisiae
(c) Monascus purpureus

(d) Trichoderma polysporum
(e)  Penicillium notatum

(f)  Propionibacterium sharmanii
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SECTION -D

3Thel S T f¥] W (RCH) a0l kT ATy ST & & | 7 HIEshAl & T S2eal
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Fifeh F€ ST Tardl @ TATT & 10T % few wewaqol iR femd «ft € |

(a)

(b)

‘T LT I SUATH % {oTT ek ikt e ot & fob pel & <AfiTeh f¥remm <t S0 1 39 e
% AR T 310 faaR &l gite & folr IR {65 saru |

T B T “Hohash” Ty {9 S Geielt W GHT &1 Hobel 9ot & |

Reproductive and Child Healthcare (RCH) programmes are currently in operation. One

of the major tasks of these programmes is to create awareness amongst people about the

wide range of reproduction related aspects. As this is important and essential for

building a reproductively healthy society.

(a)

(b)

(a)

(b)

(a)
(b)
(a)
(b)

(a)

(b)

“Providing sex education in schools is one of the waysito this goal.” Give
four points in support of your opinion regarding thi

List any two ‘indicators’ that indicate a reprod@ lthy society.
s \
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g
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Explain the post-pollination events leading to seed production in angiosperms.

SE

List the different types of pollination depending upon the source of pollen grain.
OR

Briefly explain the events of fertilization and implantation in an adult human
female.

Comment on the role of placenta as an endocrine gland.
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25. (a) TT=TaREd 1 FHEoT f6E YR BidT € 31K o Ueh ST & &k § DNA UshiorT § fohd
TR ffed & € 2

() RN R
(i) FrEEm
(iii) sRIATET
(b)  FehMATE R ERAhAT H AT FaTy |

Iran
e TR H U IR o &0 | oISt &l JHeR i =@l iy |

(a) How are the following formed and involved in DNA packaging in a nucleus of a
cell 7
(1)  Histone octomer
(i) Nucleosome
(iii)) Chromatin

(b) Differentiate between Euchromatin and Heterochro@\

OR
Explain the role of lactose as an inducer in a lac ope\Q

L
26. (a) ©H SaiaioEdr o G0 hH F4A ) BF U 758 FehR Y Fehel € 2
(b)  Stelfeiferear % gie-wrel AR ufer, %! AT HIT |
() BRI T ARG 0T HiT |
(b) % fou o fifae 9t @isr s9H 4 fFg TR
(a) d serve biodiversity ? How can we do it ?

(b)  Explain the importance of biodiversity hot-spots and sacred groves.
OR
(a) Represent diagrammatically three kinds of age-pyramids for human populations.

(b) How does an age pyramid for human population at given point of time helps the
policy-makers in planning for future.



